= A
N = 0 &8 AF S 9 Al A
2017HE 20lA US| EEEAXA D
SN BECAXAD
HH: CA SX2Y X4
SH9ll CAlE SXMED XA EERED
i =
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
ZECAXAED 8,641,045 5,753,349 2,887,696
= 100,729
Xl 1,088,000
= 957,397
Al 6,494,919
SA sX33 =4 7,804,971 4,792,213 3,012,758
Xl 1,088,000
o= 919,309
Al 5,797,662
SA=E sAMEI0 =4 3,722,780 1,869,280 1,853,500
Xl 915,000
o= 300,000
Al 2,507,780
NI TAls,Ba= JI24 dS0Sss S Z48A 1,200,000 0 1,200,000
A(TAE ZUHY JHEKT =4)
Xl 600,000
Al 600,000
401 AlEHIZL £ 0HY| 1,200,000 0 1,200,000
Xl 600,000
Al 600,000
01 Al&H| 1,196,500 0 1,196,500
OZA= 209 OHEKZT =4 1,196,500
Xl 598,250
Al 598,250
03 A& 20 b 3,500 0 3,500
OEA= Z20Y O2HENZT X4 3,500
N 1,750
Al 1,750
XNAH SAl=, B4 01248  8E0ISE S Z4A 530,000 300,000 230,000
A(TAlZ EAAY)
Xl 265,000
Al 265,000
401 Al HI L 2 0HHI 530,000 300, 000 230,000
N 265,000
Al 265,000
01 Al&HI 527,000 299,000 228,000
OEAMN= 24 527,000
Xl 263,500
Al 263,500
03 A& 2 0HbI 3,000 1,000 2,000
OEAN= =4 3,000
Xl 1,500
Al 1,500
NI TAl=s, o= JI24 dS0SsE S Z48A 100,000 0 100,000
A (0t0l& ZAALY)
Xl 50,000
Al 50,000
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401 Al HIZ 201 Y| 100,000 0 100,000
X 50,000
Al 50,000
01 A& HI 100,000 0 100,000
OEAMN=Z=H (00l ZHAIY) 100,000
Xl 50,000
Al 50,000
SE5EE 22 27,000 27,000 0
203 YR =& 2,000 2,000 0
03 AIBFAH S =AY 2,000 2,000 0
OZEZANZHE H2FH 2,000
401 AIEHIZL 20 25,000 25,000 0
01 A& Hl 25,000 25,000 0
CEEE s 25,000
ShZE 2ESANEZLEAY 160,000 0 160,000
401 A& HIZ 201 I 160,000 0 160,000
01 A& HI 160,000 0 160,000
Osiz 2E=K =4 160,000
HEUMFZETANZFERARSE MEHZAIDIRIIALY 50,000 50,000 0
307 212+0 & 50,000 50,000 0
02 QItA A AL 2 20,000 20,000 0
OHEIM=ZETANZFAARZSZ MHHETAl 2t
A 20,000
03 QIAHMNHE2IHIEE 30,000 30,000 0
OFUHFZETANZFLRA S 24l 30,000
WPHRSID Bt =X L SHSE 22 927,500 600,000 327,500
201 Let2d] 2,500 0 2,500
01 At 2teltl 500 0 500
OHTZE 2tale AUHAIRA 29 500
02 =224l 2,000 0 2,000
OHEZH S3alle AUHAIRA 29 2,000
206 = Hl 25,000 0 25,000
01 MHZ 8l 25,000 0 25,000
O "ot Hetgt =X & TaIF 2 20,000
OsdIs 22 =d e 5,000
401 Al HIZ 2018 900,000 600,000 300,000
01 A& HI 898,000 599,000 299,000
O Aoty Betgt =X & oI 898,000
03 Al 204 2,000 1,000 1,000
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OMFStD Horst =X & TyIA2e 2,000
dEMF T3 ME OtaZ G=20Y 22 2,280 2,280 0
201 Lt 2,280 2,280 0
01 At 22l 2,280 2,280 0
o= Ot U=20tg 23 2,280
iz =X G20t 29 1,000 0 1,000
201 Let24d] 1,000 0 1,000
01 At 2teltl 1,000 0 1,000
OWNZ el=sX t=30teg =249 1,000
I HE (BRI &8I 2E) N2 2THI 100,000 0 100,000
401 AIEHIZL 2 0] 100,000 0 100,000
01 A& Hl 100,000 0 100,000
o2+ =3H3E 2 A=2F AN 100,000
d=F= GA QAWM UzsZ &MY 500,000 0 500,000
< 300,000
Al 200,000
201 Let24E] 1,880 0 1,880
< 1,128
Al 752
01 At 22l 1,880 0 1,880
ORAM Lsd =4 1,880
< 1,128
Al 752
401 AIEHI L 2CHEI 498,120 0 498,120
< 298,872
Al 199,248
01 A& Bl 496,620 0 496,620
P Us2 =4 496,620
< 297,972
Al 198,648
03 Al 2 THHI 1,500 0 1,500
SEMH Us2 =4 1,500
< 900
Al 600
otz sX32 =24 125,000 0 125,000
401 AIEHI L 2 CHYI 125,000 0 125,000
01 A& HI 125,000 0 125,000
o&0tZE =X32 =24 125,000
&5 & 2el 581,440 549,000 32,440
22 29 104,440 93,000 11,440
201 Let24d] 104,440 93,000 11,440
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& TasIEdae (&)
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Se=sNx82L 579,365 444,256 135,109
< 4,309
Al 575,056
=stHALCHH] OIIE 3tE X4 150,000 150,000 0
401 AIEBI L 20HEI 150,000 150,000 0
01 A& Hl 150,000 150,000 0
O=23t&#HAINHl OIME 3t =4 150,000
Z2Jel =4 240,000 170,000 70,000
206 M= Hl 110,000 80,000 30,000
01 =4l 110,000 80,000 30,000
Ong=st 28 F¢ 80,000
OS3ti2s staEBE 22 =4 10,000
okLss 23E Z3U 24 5,000
Osds &8¢ ZABAZL X4 5,000
OXES HUu=3A= AN 5,000
osdiIs sS4l 2¢ =4 5,000
401 AIEHI L 201 130,000 90,000 40,000
01 A& Hl 130,000 90,000 40,000
O©ZHel =4 md 90,000
OSstit2s MH=Z OFM3 AN 40,000
HEetE =4 25,000 0 25,000
201 Let2d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OANRIEHN HASE (YT S) 5,000
206 M= Hl 20,000 0 20,000
01 =8l 20,000 0 20,000
OHEINE 22 2 X 7Y 20,000
U-20 OHHl OIE02 Z2EAMXH 150,000 0 150,000
401 A& HIZ 201 Y] 150,000 0 150,000
01 A& HI 150,000 0 150,000
OU-20 CHHl OtSOHE2 2% Al =4 150,000
=MEf2tel el 14,365 0 14,365
< 4,309
Al 10,056
101 @124 dl 13,365 0 13,365
< 4,009
Al 9,356
4 JI2ZtHZ22EE = 13,365 0 13,365
O=dEf&2l 2l 13,365
< 4,009
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Al 9,356
201 ¢4l 1,000 0 1,000
< 300
Al 700
01 At 2t 2l 1,000 0 1,000
O=MEef2telel 1,000
< 300
Al 700
CANSEEH 2,272,886 1,533,677 739,209
Xl 90,000
< 615,000
Al 1,567,886
SRAIZFA2HE AN BH 8= 427,886 495,677 ABT,791
09 MEZ 382,886 406,677 A23,791
01 SAt- SHINTES 382,886 406,677 A 23,791
OEHAZE ANE2IXA 382,886
404 SASHUHEHES 45,000 89,000 A 44,000
01 SAt-sHIt=dES 45,000 89,000 A 44,000
OETZA AMEXE 45,000
32 LM 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
OHZZH =8 LEDZXZE &X 30,000
dF QIR HEZEX =4 At 1,315,000 1,000,000 315,000
< 615,000
Al 700,000
401 A& HIZ 201 I 1,315,000 1,000,000 315,000
< 615,000
Al 700,000
01 A& HI 1,308,000 1,000,000 308,000
OHANIZA HE22X =4 1,308,000
< 615,000
Al 693,000
03 Al 2 THHI 7,000 0 7,000
OHXIZA HE22X =4 7,000
OrsX—+ 233 =4 200,000 0 200,000
401 Al HIZ 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OO0SX7 2ESE LAY 200,000
MEIS0IE =4 (0tE0HE03d) 300,000 0 300,000
Xl 90,000
Al 210,000
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401 AIEHIZ 2 CHHI 300,000 0 300,000
Xl 90,000
Al 210,000
01 A& dl 297,840 0 297,840
Oots0i2lolsd YH=0H =4 297,840
N 90,000
Al 207,840
03 Al& 2 CHHI 2,160 0 2,160
O0ts0elol=ad =016l =4 2,160
S AN&E=s 2el 648,500 396,000 252,500
N 83,000
Al 565,500
gty 38 24 230,000 180,000 50,000
401 AlEHIZ 208 230,000 180,000 50,000
01 A€ dl 230,000 180,000 50,000
g2y S8 =4 150,000
OAUX A A2 M EH HX 80,000
== O20I=0lAIE &bl 50,000 50,000 0
401 Al HIZ 208 50,000 50,000 0
01 Al&HI 50,000 50,000 0
OLF 0lgl0l s0lAlE nid % Ebl 50,000
HMZd st ddH O=0tg =29 2,500 0 2,500
201 LBt2 S 2,500 0 2,500
01 At 22l bl 2,500 0 2,500
OHASH ety dHl O=s0tg =29 2,500
NASZEMOIBAE N (2AMCHSI MY 166,000 166,000 0
2 &)
Xl 83,000
Al 83,000
401 AlEHIH 20 8] 166,000 166,000 0
N 83,000
Al 83,000
01 Al&HI 166,000 164,610 1,390
OZANMCEE dHESZ AL 166,000
Xl 83,000
Al 83,000
SIS EA £X 200,000 0 200,000
401 AIEHIZ 2 0HHI 200,000 0 200,000
01 A€ HI 200,000 0 200,000
OHASE tEa X 200,000
S =4 769,054 896,116 A127,062
= 100,729
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< 38,088
Al 630,237
MEIE BEsE4d 769,054 896,116 A127,062
= 100,729
< 38,088
Al 630,237
N 91,669 11,667 80,002
= 45,835
< 13,750
Al 32,084
401 Al HI K 201 I 91,669 11,667 80,002
= 45,835
< 13,750
Al 32,084
01 A& HI 91,669 11,667 80,002
oO2Uu=s x8 91,669
= 45,835
< 13,750
Al 32,084
ASY A 2L 26,000 26,000 0
206 M= Hl 20,000 22,000 A 2,000
01 MHZ 4l 20,000 22,000 A 2,000
OASY U 222|oY BA 2E 2 (£
g) 20,000
401 Al HIZ 2018 6,000 4,000 2,000
01 A& HI 6,000 4,000 2,000
OMM=+== X2t 6,000
25+ ¥ Lo =8 FH 30,000 30,000 0
401 AIEHIZL 20 30,000 30,000 0
01 A& HI 30,000 30,000 0
Os+ & L= =8 FH| 30,000
2o+ 2 12,600 12,600 0
< 3,800
Al 8,800
401 Al IR 201 I 12,600 12,600 0
< 3,800
Al 8,800
01 A& HI 12,600 12,600 0
254 z2tel 12,600
< 3,800
Al 8,800
MEYX 29 37,000 37,000 0
201 Let24E] 34,000 34,000 0
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2N RESANZLD
M MXE TH
R MEY BEees (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 4,760
MEIMHHIAEZER0 29 X2 (= oH&I}) 40,000 14,256 25,744
= 20,000
== 6,000
Al 14,000
307 2Iz2t0| A 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
02 QIZHA AAIE E X 40,000 0 40,000
Oz ofl&Jt 40,000
= 20,000
= 6,000
Al 14,000
MEMHHIAER0 29 (=22 ACIUOIH) 16,110 14,256 1,854
= 8,055
= 2,417
Al 5,638
307 QI2t0| ™ 16,110 14,256 1,854
= 8,055
& 2,417
Al 5,638
02 AI2tAMAIE E =X 16,110 14,256 1,854
oO=zx==2< ICIHOH 16,110
= 8,055
= 2,417
Al 5,638
MERFE &) N2 93,375 93,375 0
308 XX SHHSOIH 93,375 93,375 0
07 MIXSHHM2UAREESE S 93,375 93,375 0
Odt=dlsgtE )| A2 93,375
MNEZA AFoE Y HI} 4,590 4,590 0
308 XX EHSOIA 4,590 4,590 0
07 AIXSHH2EESSZ2 4,590 4,590 0
ONEZANAGCHA = L HI} 4,590
SEAMZ SRl AP 20,000 35,000 A 15,000
401 AlEHIZL 2 0HY| 20,000 35,000 A 15,000
01 Al&EH| 20,000 35,000 A 15,000
OsSitg K22 AIg 20,000
g3 258z 1 7,499 7,498 1
= 3,750
= 1,124
Al 2,625
401 Al HI L £ 0HHI 7,499 7,498 1
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 3,750
& 1,124
Al 2,625
01 Al&H| 7,499 7,498 1
OKtE™alls 212t 24 7,499
= 3,750
= 1,124
Al 2,625
HIE=IR | 12,787 11,534 1,253
= 6,394
& 1,918
Al 4,475
401 Al HI L E0HHI 12,787 11,534 1,253
= 6,394
=} 1,918
Al 4,475
01 A& H| 12,787 11,534 1,253
OX& X IR 12,787
= 6,394
& 1,918
Al 4,475
SMHHE SEH4s 1,000 1,000 0
= 1,000
202 o4 | 1,000 1,000 0
= 1,000
01 2Ll 1,000 1,000 0
OZ2MMS SE 22 oyl 1,000
= 1,000
MEAH0 M2 B3 8,640 1,440 7,200
& 1,728
Al 6,912
201 et Y| 8,640 1,440 7,200
& 1,728
Al 6,912
01 AP 2t 2] H| 8,640 1,440 7,200
oYY M2 23 8,640
= 1,728
Al 6,912
AULUSMHES 2 A 20,000 0 20,000
401 Al HI L E0HHI 20,000 0 20,000
01 A& H| 20,000 0 20,000
OALRMASEHM =2t At 20,000
S0t HEH ZAAY 200,000 0 200,000
401 AIEHIZL 201 Y| 200,000 0 200,000
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